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B | K4 oUT IN [#Bx HDCP *w k|| JER |K4% OUT IN [#@x HDCP *xw bk
& B a0 E 38 37 75 6.0 69.0|| 53 G TR L 46 46 92 15.6  76.4
#BE ) RIS 40 45 85 14.4  70.6|| 54 f |/ EZ 51 47 98 21.6 76.4
3 i | /MY R 45 50 95 240 71.0|| 55 fI|tEH BE 46 39 85 8.4 76.6
4 fi|lLE B 43 44 87 15.6  T1.4| 56 {i | ¥AFt a4t 46 39 85 8.4 76.6
5 fi1 | YEFH ZER 38 40 78 6.0 72.0|| 57 I HME FEE 47 44 91 14.4  76.6
6 1 | 4E/R 15— 42 42 84 12.0 72.0|| 58 {u|EE B 43 48 91 14.4  76.6
7 4 |EA §EX 43 46 89 16.8  72.2|| 59 {I|EH HF 49 48 97 20.4 76.6
8 fi |t X 43 44 87 14.4 72.6| 60 fii | =x EAF | 45 51 96 19.2  76.8
9 i | HA H— 46 4 87 14.4 72.6|| 61 fZ|ILF EF 40 43 83 6.0 77.0
10 i | 1LO BRE 43 44 87 144 72.6|| 62 {I|FEK Eq— 48 59 | 107 30.0 77.0
1| = 5 43 50 93 20.4 72.6| 63 {i|iEM K= 46 48 94 16.8 77.2
12 fu |21 BEHE | 43 43 86 13.2  72.8|| 64 {u 8B HEN 44 49 93 15.6 77.4
13 4z |/NEE FERER | 43 42 85 12.0 73.0|| 65 fi| AH HE 45 53 98 20.4 77.6
14 4 | @ BE 42 36 78 4.8 73.2|| 66 I ZI IEX 45 53 98 20.4 77.6
15 i | AR % 46 44 90 16.8  73.2|| 67 |k Fnk 45 46 91 13.2 77.8
16 i1 | /NP BER 50 46 96 22.8  73.2| 68 fir | EFHF E 44 45 89 10.8 78.2
17 i | H@E MF 48 41 89 15.6  73.4| 69 | B 41 48 89 10.8  78.2
18 i | F%FHE 5 42 47 80 156  73.4|| 70 fI|HE ¥ETF 48 47 95 16.8  78.2
19 1 | A A— 50 45 95 21.6  73.4| T fI|HK E 47 47 94 15.6  78.4
20 1 | B&E 48 47 95  21.6  73.4|| 72 {I|FH B 52 48 | 100 21.6 78.4
21 61 | KB ER 40 M 81 7.2 73.8|| 73 GL|#H THER 51 49 | 100 21.6 78.4
22 i |{5MA F|H 42 45 87 13.2  73.8| T4 fi|tkRK #F | 46 46 92 13.2 78.8
23 £ | /A MF 42 38 80 6.0 74.0|| 75 i B ERE 50 42 92 13.2 78.8
24 4z | )1lde BBTH 45 40 85 10.8 74.2 76 4L | E¥ & 48 50 98 19.2 78.8
25 fif | ILA 3RE 48 43 91 16.8  74.2|| 77 fi|FHE <YL | 49 53| 102 22.8 79.2
26 4z |dL) =F 39 39 78 3.6 74.4|| 78 fu|TE ¥ 48 47 95 15.6  79.4
27 fii | F# BR& 43 4 84 9.6  T4.4|| 79 6L BNl N 47 41 88 8.4 79.6
28 fii | IUT BT 44 44 88 13.2  74.8|| 80 fi|lL@E =T 42 44 86 6.0 80.0
29 i1 |fEM =% 47 47 94 19.2  74.8|| 81 {u|#EK F— 50 48 98 18.0  80.0
30 iz |it EB 46 47 93  18.0  75.0|| 82 i |lfh [EF] 48 48 96 15.6  80.4
31 fii |8 HA 46 47 93  18.0  75.0|| 83 i [iE/K £ 46 43 89 8.4  80.6
2 6| =@ OYF | 47 39 86 10.8  75.2|| 84 {%|FEE {-F 54 53 | 107 26.4  80.6
33 £ | IuA SiF 41 45 86 10.8  75.2|| 85 i |FEAT ik 53 53 | 106 25.2  80.8
34 4% | 1LO ¥E8R 41 45 86 10.8  75.2(| 86 fi|/NE FAER | 48 45 93 12.0 81.0
35 i | RBIE 3 43 43 86 10.8 75.2|| 87 fi|BLt = 5 56 | 111 30.0 81.0
36 fii | e FE 43 42 85 9.6 75.4|| 88 fiI|E EE 56 51 | 107 24.0 83.0
37 4 |HEt ZE— 48 43 91 15.6  75.4|| 89 { |FimF Ih 46 54 | 100 16.8  83.2
38 £ | LR Ml 46 45 91  15.6  75.4| 90 {i | =& A 50 47 97 13.2  83.8
39 fi | HE EA 50 53 | 103 27.6  75.4| 91 {i|¥E & 54 61 | 115 31.2  83.8
40 fi | B3 Bth 52 51 | 103 27.6  75.4|| 92 {f|#E;\ E= 50 46 9% 12.0 84.0
41 41 |de) E= 48 48 96 20.4 75.6|| 93 fI|kiE M=z 5 50 | 101 16.8  84.2
42 i1 |t E£B 52 50 | 102 26.4  75.6| 94 {i|Kfth XB 53 64 | 117 32.4 84.6
43 1 | =5 # 43 40 83 7.2 75.8|| 95 fii| Bif FAER 5 55 | 110 24.0 86.0
44 1|50 IEM 45 44 89 13.2  75.8| 96 fi|HLE EF 64 52| 116 30.0 86.0
45 f1 | FE RREHZE | 52 55 | 107 31.2  75.8|| 97 {I|#ER E_EB 58 66 | 124 36.0 88.0
46 41 | FH B& 41 M 82 6.0 76.0
47 51 | Mk E=— 42 46 88 12.0 76.0
48 31 | $5K THER 45 43 88 12.0 76.0
49 f |HFE BERE | 43 M4 87 10.8  76.2
50 £ |/\FE EX 44 43 87 10.8  76.2
51 fii |fxE Eki 42 51 93 16.8  76.2
52 fii | g # 46 46 92 15.6  76.4




